GOVERNMENT OF WEST BENGAL

DIRECTORATE OF SCHOOL EDUCATION
NATIONAL TALENT SEARCH EXAMINATION, 2019

(STATE LEVEL)

(FOR STUDENTS STUDYING IN CLASS X)

Mental Ability Test

Roll No.

Full Marks : 100
Time: 120 Minutes (10-30 AM to 12-30 PM)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 100 questions.
Each question carries 1(one) mark. You are to answer all
the questions.

2. Before you proceed tomark inthe OMR Answer-
Sheet, find out the correct answer from the four
alternatives (a), (b), (c) and (d) against each question in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

Example : @ . @ @

(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your Roll No. in
OMR Answer Sheet.

7. The OMR Answer-Sheet should be handed over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.

State Code  Year Code Centre Code Serial No.
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8. The length of a rectangle is increased by
60%. By what per cent would the width have to be
decreased to maintain the same area?

(a) 60
(b) 75
(c) 120
d) 375

9. Which of the following polygons is
uniquely determined when all the sides are given?

(a) Quadrilateral
. (b) Pentagon
(c) Rhombus
(d) Triangle

10. The tangent at a point P on a circle with
centre O meets the diameter AB produced at Q. If
ZAQP = 40°, then the value of ZAPO is

(a) 10°
(b) 15°
(c) 20°
(d) 25°

1. ¥x=a(b-c),y=Db(c-a),z=cla->b),

3 3 3
then (f) +(-§] +(i) is equal to
a c

AR
@ abc
1z
3 abc
R el
abce

(b)

()

3(x+y+2)
abce

(d)

[4]

12. The value of \/(a—b) +yJ(b-a)® is

(a) always zero

(b) never zero

(c) positive if and only if a > b
(d) positive only if a# b

13. Inatriangle AABC, DE | BC,if AD=3cm,
DB = 5 cm and AE = 6 cm then AC will be

(a) 12cm
(b) 16cm
(c) 1l4cm
(d) 10cm

14. T 1 and ¥ 5 coins are available as many
required. Find the smallest payment which can not
be made by these coins, if not more than 5 coins
are allowed.

(a) 12
(b) 14
(c) 18
d 9

15. A line intersects two circles with same
centre at the points P, R, S and Q in order, then

(a) PR<SQ
(b) PR>SQ
(c) PR=SQ
(d) PRLSQ
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(Questions 16 — 25)

DIRECTION: In each question 16 to 25 there are
two words separated by ;" and other two separated
from the first two by the symbol ‘::’. Find the
relation between two sets of words and select one
word from the right side of *:” which have the same
relation as left set of words of ::’. Fill the circle of
the letter denoting your selected answer on the
OMR Answer-Sheet.
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16. Moon : Satellite :: Earth : ?
(a) Sun
(b) Planet
(c) Solar system
(d) Asteroid

17. Drama : Director :: Magazine : ?
(a) Story
(b) Editor
(c) Author
(d) Reader

18. Profit: Loss :: Success : ?
(a) Failure
(b) Achiever
(c) Winner

(d) Hoper

19, 111:10:=31:7
(@ 5
(®) 6
© 4
(d) 9

[5]

20.

21.

22.

Dog : Bark :: Goat : ?
(a) Bleat
(b) Howl
(c) Grunt
(d) Bray

BE:AD:PS:?

(a) LO

(b) RO

(c) OR .
(d) OT

Seismologist : Earthquakes :: Geologist : ?

(a) Universe
(b) Earth
(c) Sun

(d) Plants

Brick : Building :: Straw : ?
(a) Hut

(b) Product

(c) Drink

(d) Food

Octopus : Mollusca :: Spider : ?
(a) Genus

(b) Arthropoda

(c) Porifera

(d) Class




25. J.K.Rowling : Harry Potter :: 7 : Sherlock
Holmes

(a) A.C.Doyle
(b) E. A.Poe
(c) C. Dickens
(d) W. Collins
(Questions 26 — 55)

DIRECTION: In questions 26 — 55, numbers are
placed in figures on the basis of some rules. One
place in the figure is indicated by the interrogation
sign(?). Find out the correct alternative to replace
the question mark and indicate your answer by
filling the circle of -the corresponding letter of
alternatives in the OMR Answer-Sheet.
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(a) 5
(b) 6
() 8
@ 9

(a) 91
(b) 104
(c) 108
(d) 116

(a) 307
(b) 343
(c) 300
(d) 299

el

(a) 20
(b) 22
{c) 21
(d) 16

-

(a) 62
(b) 60
(c) 70
(d 72



31.

32.

Z1

X16

V49

A4

C25

T9

R36

P81

(a) E10

(b) S15.

(c) E64
(d) S12

12 3

18

15

33.

(a) 89
(b) 19
(c) 85
(@ 17

(a) 64
(b) 100
(c) 68
(d) 82

34.

N
O

(a) 16
(b) 8
(c) 48
(d) 10

35.

84

81

14 | 12

| 18

88

(a) 16
(b) 21
(c) 81
(d) 24

11

[

8




37.

(a) 10
(b) 14
(c) 16
(d) 19

%
O

(a) 12
(b) 25
(c) 48
(d) 52

39.

(@) 0
(b) 8
(c) 125
(d) 216

(8]

40.
18 32 60
12 30 24 48 48 84
6 8 7
(@ 7
(b) 9
(c) 12
(d) 18
41.
3 8 5 T 6 5
48 ? 45
4 2 3
(a) 27
(b) 35
(c) 54
(d) 64
42.
3 2 2
6 20 3
12 25 64
6 10 2
(a) 6
(b) 8
(c) 10
(d) 12




R

43.

(a) K
(b) N
(c) O
(d) P

(a) G
(b) R
71 [ 4
(d) V

12

14

25

28

125

192

56

(a) 64
(b) 56
(c) 48
(d) 40

[9]

47.

1 7 9

2 14 ?

3 105 | 117
(a) 26
(b) 20
(c) 16
(d) 12

3 8 10 2 ?
6 56 90 2 20

(a) 0
(b) 3
() 5
(d 7

154

14 |221 | 196

i
(a) 11
(b) 13
{c) 15
=gy 17




19 8 21 7 24

912 882
16 14
(a) 1234
(b) 936

(a) 262 (c) 864

(b) 622 (d) 756

(c) 631

(d) 824

50. 53.

(a) 32
A8 13 (b) 35
(b) 14 (c) 36
(c) 20 (d) 39
(d) 21
L7
54,
127 3
s 9
\7 6 16
31 | 15 4 A a 36
(a) 61 (a) 3
(b) 63 (b) 6
(c) 65 € 7
(d) 67 (d) 8

[10]




5S. 59. 0,2,8,14,7,34

4 8 20 (a) 20
B Pl e (b) 23
. : 2 (c) 24
(d) 25
(a) 16
(b) 18 60. 563,647,479, 815, 7
() 20 (a) 672
: (@) 24 (b) 386
. (Questions 56 — 70) (c) 279
. "' DIRECTION: In each of the following questions (d) 143
' 56 to 70 a number series is given with one term
: missing. Choose the correct alternative that will s SRS SR
: continue the same pattern and replace the question 6l. =5 550 25 ?
'J mark in the given series. 6
i: [ & Awa 56 @ 70 *fE 24H 2oy g e (a) 575
! @it oz | 2fSl @ifite 93l T g oM e EIE
1 ‘p o A = | 62 oMb ifaf Fies vl Reme (b)
| oEeN| 6% oW I FE S.aNWE. Tereita e 255
2ffba ATATH I8 =2 I
56. 3,7,15,7,63,127 © 125
(a) 30 7
{g) e
(b) 31 25
(c) 47
d) 52 62. 2,9,628,7 126,217,344
(a) 50
8. 0235381015 17,24,26,7
(b) 65
(a) 28
(c) 70
(b) 30
(d) 82
(c) 32
(d) 35
63. 90,180, 12, 50, 100, 200, ?, 3, 50, 4, 25, 2,
58. 10, 14,26,42,70,? 6, 30,3
(a) 100 (a) 150
(b) 102 ' (b) 175
(c) 106 () 225

(d) 114 (d) 250




64. 45,54,47,7,49, 56,51, 57,53
(a) 48
(b) 50
() 35
(d) None of the above

65. How many terms are there in the series
201, 208, 215, ..., 3697

(a) 23
(b) 24
(¢} 43
(d) 26

66. 4,6,12, 14,28, 30,7
(a) 32
(b) 60
(c) 62
(d) 64

87 22513281
(a) 49
(b) 50
{e) 31
(d) 52

68. 66,36,18,7?
(@ 3
(b) 6
(c) 8
(d) 9

@ 5.2.7,9.16,25.7
(a) 41
(b) 45
(c) 48
(d) 52

70. In the series 3, 9, 15, ..., what will be the
21st term?

(a) 117
(b) 121
(c) 123
(d) 129

(Questions 71 — 80)

DIRECTION: In each of the questions 71 to 80
there are four items, three of which are alike by
some means or other while one is out of the class.
Find out the odd item and indicate your answer by
filling the circle of the corresponding letter on the
OMR answer sheet.

(ot 8 71 (At 80 28 2Arera 2ivsl b1 T #17 A= |
e foa @I A (I O @33 3R ARO!
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71. (a) Oxygen
(b) Hydrogen
(c) Carbon dioxide

(d) Hydrogen peroxide

72. (a) Poland
(b) Spain
(c) Korea
(d) Greece

73. (a) AFK
(b) DIN
() QSU
(d) LQV

[12]



74.

75.

76.

77.

78.

79.

(a)
(b)
(c)
(d

(a)
(®)
(c)
(d)

(b)
(©)
(d)

(b)
(c)
(d)

(b)
(©)
(d

(a)
(b)
(©)
(@)

4-48
7-147
11 -362
5-75

Carrot
Potato
Tomato

Ginger

Lakshadeep
Manipur
Maharashtra
Haryana

Sambhar
Siachen
Dal
Baikal

Yuri Gagarin

Rakesh Sharma
Neil Armstrong
Edmund Hillary

Autocracy
Bureaucracy
Democracy

Diplomacy

80. (a) Birbal
(b) Abul Fazal
(c) Tansen
(d) Faiz Ahmed

(Questions 81 — 83)
DIRECTION: Choose correct one:
[ ¢ w5 Seaf a3

81. Mahesh walks 20 meters towards North.
He then turns left and walks 40 meters. He again
turns left and walks 20 metres. Further he moves
20 metres after turning to the right. How far is he
from his original position?

(a) 20m
(b) 30 m
(¢) 50m
(d) 60m

82. One momning after sunrise, Reeta and
Kavita were talking to each other face to face at
Broad Square. If Kavita’s shadow was exactly to
the right of Reeta, which direction Kavita was
facing?

(a) North
(b) South
(c) East
(d) None of the above

83. A watch reads 9-00 O’clock and I found
that the hour hand is pointing south-east. In what
direction, the minute hand of my watch is at that
time?

(a) East
(b) South-West
(¢) North
(d) North-East

[13]
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(Questions 84 & 85)
DIRECTION: Choose correct one:
(e & #fde Teafd fAdion @)

84. Arrange the given words in the sequence
in which they occur in the dictionary and then
choose the correct sequence.

1. Credential
Creed
Crease
Cremate
Credible

(@ 1,2,3,4,5
(b) 1,5,3,4,2
(¢) 5,1,2,3,4
() 3,1,5,2,4

o Wk

85. Find which one word cannot be made

from the letters of the given word:
INTERNATIONAL
(a) ORIENTAL
(b) TERMINAL
(¢) LATTER
(d) RATIONAL

(Questions 86 — 90)

£,* &

86. If ‘x’ means ‘+’,

3 b ‘ ]

—" means ‘X’, ‘=

(a) 8
(b) 4
(c) 2
(d -1

means
‘4’ and ‘+’ means ‘—’,then (3-15+19)x8+6 =7

87. If ‘L’ denotes ‘=’ ‘M’ denotes ‘x’,
denotes ‘+* and ‘Q’ denotes ‘-, then which of t
following statement is true?

(a) 32P8L16Q4 = -

M| W

(b) 6M18Q26L13P7 = -1-1%?1

(c) 11M34L17Q8L3 = E; 4

(d) 9PILIQIMY =71

88. In the following question if th
interchanges are made in signs and number
which one of the four equations would be correct

Given interchanges : signs ‘-’ and ‘X’ an
numbers 3 and 6

(a) 6-3x2=9

(b) 3-6x8=10

) 6x3-4=15
d) 3x6-4=33

89. If9*7=58and3* 11 =124, whatistl
valueof 13 *5 7

(a) 38
(b) 31
(c) 174
(d) 36

90. If ‘x’ stands for ‘addition’, ‘<’ stands f
‘subtraction’, ‘4 stands for ‘division’, ‘>’ stan
for ‘multiplication’, ‘-’ stands for ‘equal to’, ai
‘=> stands for ‘less than’, state which of tl
following is true?

(@) 3x2<4+16>2+4
(b) 552+2=10<4x8
(c) 3x4>2-9+3<3
(d) 5x3<7+8+4x1

[14]




(Questions 91 — 95)

DIRECTION: Study the following figure
carefully and answer the questions given below it.
The rectangle represents artists, the circle
represents players and the triangle represents
doctors.

(i 3 Ficen wfifes weme oot @32 A=
sprefeg Tew wie| wwere ARl okt s, 3@
TG Tt AR @3k fage e @R ()

91. How many players are neither artists nor
doctors?

(@ 3
(b) 8
{0 12
(d) 25
92. How many artists are players?
(a) 30
(b) 29
{c) 25
(d) 22

93. How many doctors are both players and
artists?

(a) 3
(b) 4
(c) 8
(d) 11

94. How many doctors are neither players nor
artists?

(a) 30
(b) 27
(c) 22
(d) 8

95. How many artists are neither players nor
doctors?

(a) 22
(b) 24
(c) 29
(d) 30

(Questions 96 & 97)
DIRECTION: Choose correct one:
(o ¢ wfdes Tealb fdioa =

96. A + B means ‘A is the brotherof B'; A-B
means ‘A is the mother of B’ and A x B means ‘A
is the sister of B’. Which of the following means
‘A is the maternal uncle of B’?

(a) A+C+B
(b) A-B+C
(c) A+C-B
(d A+CxB

97. Pointing out to a photograph a man tells
his friend “she is the daughter of the only son of
my father’s wife.” How is the girl related to the
man in the photograph?

(a) Daughter
(b) Cousin
(c) Mother
(d) Sister

DIRECTION (98 — 100): A is the son of B. C,
who is the sister of B has a son D and a daughter E.
F is the maternal uncle of D.

98. How is A related to D?
(a) Cousin
(b) Nephew
(c) Uncle
(d) Brother

[15]




99, How is E related to F? 100. How many nephews does have?

(a) Sister (a) None
(b) Daughter (b) Two
(c) Niece (c) One
(d) Wife (d) Three

[16]



GOVERNMENT OF WEST BENGAL

DIRECTORATE OF SCHOOL EDUCATION
NATIONAL TALENT SEARCH EXAMINATION, 2019

(STATE LEVEL)
(FOR STUDENTS STUDYING IN CLASS X)
Scholastic Aptitude Test

alean LT el

Roll No.

Full Marks : 100
Time: 120 minutes (1:30 PM to 3:30 PM)

Instructions to Candidates

Read the instructions carefully before you start
answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

1. In this Paper you are to answer 100 questions.
Each question carries 1(one) mark. You are to answerall
the questions.

2. Beforeyouproceed tomark inthe OMR Answer-
Sheet find out the correct answer from the four
alternatives (a), (b), (c) and (d) against each question in
the Question Booklet. Darken the circle with a Black
Ball Point Pen, to the corresponding correct answer for
the item in the OMR Answer-Sheet.

@ @ ©O©

(Here ‘b’ is the correct answer.)

Example :

! 3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall.

6. You are to write your Name and Roll No. in
the space provided with for this purpose on the OMR
Answer-Sheet. You must encode your roll no. in
OMR Answer Sheet

7. The OMR Answer-Sheet should be handed over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.
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Mathematics

1. The coefficient of x° is the quadratic
equationx (x—-1)=35

a) 3
1
(b) 7
(c) =5
(d 1

2. dfri= x/gsecﬁ and r=cosecO, then the
values of r and 6 will be

(a) r=2, 6=30°
&) r=2, 0=60°
) r=1, 8=30°
() r=3, 6=30°

3. Ifa:b=3:4 and a - b =5, then the value
of a + 2b will be

(a) —44
(b) - 33
(c) -55
(d) 55

4, If tanO-tan20 =1, then the value of cos20
will be ‘
(a) 1
(b) 2
© 3

NE)
(d) =

«,E+1

5. If ==, then the value of x -é Wil

be
@ 2
(b) 2

(c) 1
d -2

1.

&

[3]

o=

x (x - 1) =5 fagre FNEAER x° 97 F25 5
@) 5
1
(b) 3
(c) =5
d 1

r=\/§sec0 93 r=cosecH TF re 0-93

(@) r=2, 6=30°
(b) r=2, 6=60°
©) r=1, 0=30°
d) r=3, 6=30°

a:b=3:4 9Ra-b=5TFa+2b-9I T

(a) —44
(b) -33
(c) -55
(d) 55

tanB-tan20 = 1 (1 cos20 99 V9 A
(a) 1
(b) 2
© 5

5

@) 2

gii A xu%ﬂawm
(@ 2

(b) 2

() 1

(d -2

Xx=




(a) &b s
(b) 0

(c) 1
1 1

1
d S+5+3
a b c

7. At 4% per annum, the difference between
simple and compound interest for 2 years on a
certain sum of money is Rs. 80. Then the principal
sum is (the interest is compounded annually)

(a) Rs. 40,000
(b) Rs. 50,000
(c) Rs. 5,000
(d) Rs. 4,000

8. Time period of a simple pendulum varies
directly as the square root of its length. If the time
period is T'when the length is /, then the time period
when the length is 4/ is

(a) 2T
®) 3
() 4T
@ T

9. If sin®+cosecO=2, then the value of
sin'” 0+ cosec?®'9 will be

(a) 1
(b) -2
(c) 2
(d) 0

1 1 1
6 ﬂﬁx—z,y—g R z=— WA
g N s s
[—+—+H] m(—+—+—]ﬂnamm
Xy X yz o

(a) a® +b* +c*

(b) O

(c) 1
E:icil

1
(d S5 +5+3
a b c

7. A=Al 4% 22 0 QI T 2 IRE
5&f@ I @ A3 YA A 80 Bret | yevetaa Afe
= (g o e 2)

(a) 40,000 =t
(b) 50,000 Bi=t
(c) 5,000 it
(d) 4,000 Bt

8. TS (IR (MieTpiel ©fF RS IsfeeTa oK
e (O AN | 7 | el (et T28 o 41 ez
(ATl 23 :

(a) 2T
T
(b) 7
(c) 4T
@ T

. ._101 2
9. sinO+cosecO =27 sin'" 0+ cosec’™'Q

7 T I
(@) 1
(b) -2
(c) 2
(d) 0




10. The distance between the centres of two
circles of radii 3 cm and 8 cm is 13 cm. If the points
of contact of the direct common tangent of two
circles be P and Q, then the length of PQ will be

(a) 10 cm
(b) 12 cm
(¢) 11cm
(d) 9cm

11. Ifp=2-a,thenthe value of @+ 6ap +p* -8
will be
(a) 3
(b) 1
(c) 2
(d 0

12 Fx3—32+3x+7=(x+1)(ax* +bx+0),
then the value of @ + b + ¢ will be
(a) 3
(b) — 10
ey 12
(d) 4

13. In the figure, ‘O’ is the centre of the circle,
AT is a tangent drawn from A whose point of contact
is T and if AT = 15 cm and AB = 7-5 cm, the radius
of the circle is

(a) 11-25cm
: (b) 11:50 cm
;! (c) 22-5¢cm
E (d) 11 cm

10. 3 @ e 8 Hfit apitieda it Jred (FurarEd 199
13 cif | gl @b e AurRe e e
P @z Q 27 PQ @A ) =1

(a) 10 &
(b) 12 &=
(©) 11 &
(d) 9 @l

11. Mp=2-aZW@S@d’+6ap +p’ -8 -4 TN
A
(a) 3
(b) 1
(c) 2
(d 0

12. @232 +3x+7=(x+1)(@*+bx+c¢)
WO a+b+c-99¥N_ A
(@ 3
(b) — 10
(c) 12
(d) 4

13. o8, O grea o, AT %1 A R (e wifes =i
ata = T | AT = 15 G1¥, AB = 7-5 G1fsl 201 geba
e 2

(a) 1125 ¢if%
(b) 1150 @=f
(c) 22-5¢R
(d) 11 s

[5]




14. The three sides of a triangle are tan 6 unit,
sec 6 unit and 1 unit, then the nature of the triangle

18

15,

(a) Acute angled

(b) Right angled

(c) Isosceles

(d) Obtuse angled

If a, b, c be the lengths of the sides of a

triangle and a* + b* + ¢* — ab — bc — ca = 0, then the
triangle is

16.
when:

17.

(a) isosceles

(b) right angled
(c) equilateral
(d) obtuse angled

ax® + bx + ¢ =0 will be a quadratic equation

(a) c#0
(b) a#0
(c) b*=4ac

(d) b#0

How many ice cubes with 2 cm side

can be put in an icebox when dimensions are
4cmx4cmx4cm?

(a) 64
(b) 4
() 8
(d) 16

14. i fagres el 9 tan 0 €33,
sec 0 9P G} 1 G35 e fageity o ==
(a) THC
(b) et
(c) faarE

(d) Zeat

15. AABC-93 BC, CA, AB 3Raf@ 74 a, b, ¢
9R a® + b? + ¢ — ab — bc - ca = 0 2= Tagw® ==
(a) “faare
(b) TR
(c) J54E

(d) et

16. ax’ + bx + ¢ = 0 @3 B9re FMw24 53 T2
(a) c#0

(b) a#0
(c) ¥*=4ac

(d b#0

17. 4 @I x 4 @I x 4 G o 392 21" A
#feft 2 i are R Foafl wamrs 5% (ice cube)
T T ?

(a) 64
(b) 4
(c) 8
(d) 16

[6]




18. Which of the following is quadratic 18. w7 @G Fare w2

equation? (@) x-12=x*-2x+1
(a) S—l)z=x2—2x+1 & =150 :
b) ¥*-1=0
M e ) ) (c) xz——}-z-=x[x—%]+1——17
(c) x -—2=x[x—-;]+1———5 : x x
x x (d) x*-2x+1=0
d 2-2x+1=0
19. cos1°c0s2°%cos3°-........ cos101°=7? 19. cos1°cos2°cos3°........ cos 101° =3Fe?
a8 -1 (a) -1
(b) 1 (b) 1
() 0 (c) 0
(d) 101 (d) 101
20. If 0°<0<90°, then the value of 6 for which 20. 0°<0<90° %= sinO + cosO-gF A JTEA
i the value of sin® + cos 6 will be maximum is (3 I 0 @9 T T3
| (a) 30° (a) 30°
g (b) 90° (b) 90°
| (c) 60° (c) 60°
(d) 45° (d) 45°




Physics

21. The displacement (x) of a particle with
respect to time (¢) is given by, x = at + b%, where q,
b are constants. The acceleration of the particle is

(@) 2b
(b) 2a
(c)
(d)

N 8o

22. The power of a lens is + 4D, then the
focal length of the lens is

(a) 20cm
(b) 40 cm
(c) 10cm
(d) 25cm

23. If the atom, xAemits two o-particles,

then the number of neutrons in the produced atom
is

(@) A-Z-2
(b) A-Z-4
(c) A-Z+2
d A-Z+4

[8]

oeffawgt

21. I ()97 IAATE @I I H7 (x)a3
T x = at + b, @AF a, b &= 7 | Fi1fha gaq

(a) 2b
(b) 2a

(c)
(d)

N Njo

22, (R TR FAS! + 4D 5FE @ GG G
Y 2d

(a) 20cm
(b) 40 cm
(c) 10cm
(d) 25cm

23. x"Amgl qH o-a Rofe e B
Afbre FeGw e ora

(@A A-Z-2
(b) A-Z-4
() A-Z+2
d A-Z+4




24. If velocity of a particle at any instant ‘7’ is
given by v = at + br?, the dimension of ‘b’ will be

(a) [L]

(b) [LT]
(c) [LT?]
(@ [LT7]

25. A body falling freely from rest describes
distances S, S, and S, respectively in the lIst,
2nd and 3rd seconds of its fall. The ratio
S,:5,:8,is

a 1:2:3
(b 1:3¢35
eh R Bl |
d 1:4:9

26. The lower and upper fixed points of a
thermometer are 0-5° and 101° respectively. What
would be reading of this thermometer
corresponding to 30°C?

(a) 20-65°
(b) 30-65°
(c) 40-65°
(d) 50-65°

27. 60g of ice at 0°C and 40g of water at 60°C
are mixed together. Taking heat exchange only
between ice and water finally the mixture will

contain (take latent heat of fusion of ice = 80 cal/g)
(a) at 0°C 40g of water, 60g of ice
(b) at 0°C 70g of water, 30g of ice
(c) at 0°C 120g of water
(d) at 0°C 100g of water

24, Y A @I PN SO v = ar + b T,
‘b’-a3 WA TR
(a) [L]
(b) [LT]
(c) [LT?)
(d) [LT7]

25. TRARE (A SR AeaNE (@I 9@ el
s 2w, Bl ¢ $ow Cirate INFw S, S, 6 S,
Tare AfC 71 S, S, : S,—wmeel 7w

(a) 1:2:3
)y 1:3:5
o T [ BN
(d) 1:4:9

26, @ ofifdrge st g SwfEs
I 0-5° @32 101°, 30°C Txeow @3 AGhifities
[ T© Z(A ?

(a) 20-65°
(b) 30-65°
(c) 40-65°

(d) 50-65°

27. 0°C Tweolm 60g @@ s 60°C Twee™
40g @ G 25| (3 TE € I WY ol
AT 2R 4AE Eabte SR AR
(F7F @3 Aol 80 cal/gm «tat)

(a) 0°C Tzeely 40g &=, 60g 9%
(b) 0°C Tzewrm 70g &1, 30g 9T
(c) 0°C Tasery 120g &=
(d) 0°C Tzeerm 100g &

(9]




28. Light passes from glass to air. In which of

the following cases critical angle is minimum?
(a) Red colour light
(b) Green colour light
(c) Yellow colour light
(d) Blue colour light

29. Which of the following is electromagnetic
wave in nature?

(a) a-ray
(b) B-ray
(c) y-ray
(d) Cathode ray

30. A body of mass m collides against a wall
normally with a velocity 77 and rebounds with the
same speed. The change of momentum of the body

is given by
(a) zero
(®) my
©) —2mV
d) 3mp

31. Three resistances r, r, and r, are in
parallel combination and r,>r,> r,, then which of
the following relation is correct for the equivalent
resistance R?

(a) R> T,
(b) R>r,
() R>r,
(d R<r,

[10]

28. I (AT IPS WEN AE@ENE CFE AEH

(IR T ey 3R WnfefReslem @m eroae

(a) =& T2 ST e
(b) @& 12 WETT CHeg
(c) = IR SR (F0T
(d) == Trfa = oweE

29. A @ agfore ofownTan wan?
(a) o-=f

(b) p-=f

(c) y-==ba
(d) e afy

30. meEE 93l I 7 @ 9 (reHIE ST

4iF1 (I 9 993 v A afelee 2= | 3uiba sa@er
336 5

(@) "=
®)
©) —2mv
(d) —3my

31. f&% @ r,, r, 932 r, RIS TR & 932

r>r, > r,| SR e bl W @ g
(Y R-47 & 7] 2

(@) R>r,
(b) R> K
(€) R>r,
(d) R<r,




32. A body covers half the .distance of its
Journey with a speed 20m/s and the other half with

30m/s. Then the average speed of the body during
the whole journey is

(a) zero
(b) 24m/s
(c) 25m/s
(d) 26m/s

33. Two bodies with Kinetic Energies in the
ratio 2 : 3 are moving with equal momentum. The
ratio of their masses will be

(a) 1:3
by 122
(¢} 3:2

d) V2:43

32. 3 I¥ O AR WHF 727G 20my/s
TOTS G2 R AT 7Y 30m/s Tiere Siems 3 |
e FA=Aa o I/Ha TowEe

(@) 0

(b) 24m/s
(c) 25m/s
(d) 26m/s

33. 2: 3 ooz sfeRie 56 e sacasl sww
0 O A SIS 23

(a)y 1:3
(b) 1:2
{c): 32

@ V2:43

[11]]




Chemistry

34. How many moles of HCl gas upon
dissolution in water making 100L of solution will
make its pH 2?

(a) 0-1 mole
(b) 0-01 mole
(c) 1 mole
(d) 2 moles

35. Cyclohexane is produced by hydrogenation
of Benzene. How many gm atoms of hydrogen will
be added to 1 gm mole of Benzene?

(a) 2
(b) 3
(c) 4
(d) 6

36. An aqueous solution contains Cu?*, Mg,
Zn?* and Ca®* ions in the form of chloride salts in
presence of dil HCI (~0-3 mol/L). Which metal ion
will be precipitated as its sulphide when H,S is
passed through it?

(a) Zn™
(b) Mg2+
() ca*
(d) cu*

37. Which of the following reagents can be
used to distinguish between But-1-yne and
But-2-yne compounds?

(a) Br,/CCl, solution
(b) Conc. H,S50,
(c) Cold, dil and neutral KMnO, solution

(d) Ammoniacal Cuprous Chloride
solution

38. What is the minimum quantity of Iron
required to react with steam to produce the same
quantity of Hydrogen gas as produced by the
reaction of 3 gm of Al with dil. NaOH?

(a) 14 gm
(b) 28 gm
(c) 3-5gm
(d) 7 gm

A

34. @ @a HCl 5011 &te waige =@ 1001 739
TeAAy 901 79 pH 2 T3¢

(a) 01 =
(b) 0-01 &
(c) 1=
(d) 2 e

35. @A TGIEEHE ARG Teoin
=z adfS 1 AW @ @S o SN AR 2R

@ A2
(a) 2
(b) 3
(c) 4
(d) 6

36. =g HCl = wEfie @3 (~0-3 mol/L)
Cu?*, Mg?*, Zn?* @33 Ca?* ofsi @RRe #Remea
7AgS itz | @ G H,S ST Bl F90E (i 4193
S AeTrRemce Saefrd 2ra e

(a) Zn?.+
(b) Mg2+
() ca*
(d) cu*

37. fata @i Rerws ARw [Es-1-wE e
4T5-2- =iz (Tisrama Wy ofefa el a1 arme
(a) Bry/CCl, @34
(b) s H,S0, |
(c) @Y e ol 2 KMnO, &<
(d) syenfETe Fean @R v

38. 3 afw Al Wie @ NaOH-«3 RfgFam @
AR AGITE ST Beom zW, AR 2Regee
S el FACS Pow Fo AR ETRE AH TN
37 e w=aie 2@ e

(a) 14 o=
(b) 28 4w
(c) 354
(d) 7 am

[a2]




b ik iay
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i

39. Anelement with mass number 81 contains
31:7% more neutrons as compared to protons. The
symbol of the atom will be

@ 56X
®) 35X
© %X
@ 5X

40. Under what conditions a real gas behaves
as an ideal gas?

(a) Low pressure and Low temperature

(b) Low pressure and High temperature
(c) High temperature and High pressure
(d) High pressure and Low temperature

41. Which of the following compounds
contains three bond pairs and one lone pair of
electrons around the central atom?

(a) H,0
(b) BF,
(c) CH,
(d) PCl,

42. The triad of nuclides that represents
isotones is
@ ¢ YN UF
() 2C UN, By
e el R
(dy 'gC 4N P

43. A certain compound has a molecular
formula A,0,. 10 gm of A,O, contains 5-72 gm
of ‘A’. Atomic weight of ‘A’ is

(a) 32
(b) 37
(c) 42
(d) 88

39. 81 eRYRME walb e calbem womm
31-7% & 85w W= | (e o =@

@) %X
®) X
). LX
@ LX

40. 93 IWI AP @ WS W SEE Wl
G5 2

(a) fAwpret @ FECaeet
(b) fsIol ¢ Twoawet
(c) Twozes ¢ Twbief
(d) Toobiet @ FxTaset

41. fFEfPRe @R @b cve @@ s
@H I foq 1w @e ¢ g3 o™ @e e
Toifre ¢

(a) HO
(b) BF,
(c) CH,
(d) PCl,

42. fews RO awm wug arat wiRenGE o
@) 20 INIE
@) c, BN
o). oG BN UE
i) 50, UN,IF

43. A 0,wifRE AwFe W @I R
10 99 S0 572 AN ‘A’ IEEEI| ‘A’ GG
AT eow &

(a) 32
(b) 37
(c) 42
(d) 88

[13],




44. In Aluminothermic process Aluminium 4. Rl smferes seEfifam =

acts as (a) ORT T
(a) an oxidising agent (b) Feas w3y
(b) areducing agent (c) o= w3y
(c) aflux (d) IR

(d) asolder

45. Out of the following, the molecular 45. TsfiReslr wwg ARErEtEtRe wites

formula of Pyrosulphuric acid is S AT &
(a) H,S,0, (@) H,S,0,
®) H,8,0, ®) H,8,0,
(c) H,S,0q () H,S,04
(d) H,S,0, (d) H,S,0,
46. Which of the following molecules have 46. s @I wqefE W H,CCO- ¢ CHO-
H,CCO- as well as CHO - functional groups? Tog IR L T6A ?
(a) Acetone (a) =oifGE
(b) Acetaldehyde (b) wnFGERRe
(c) Ethyl alcohol (c) 2R eI
(d) Formaldehyde (d) FEUETeRe

‘[ 14 ]




Biology St

47. Pseudocoelom found in which organism?

47. AN ol W I GNE 2

: (a) Sponge (a) i@
' (b) Tapeworm (b) Rrerpf
(¢) Roundworm (c) Coregi
(d) Coral (d) ==
48. Bacteria is a prokaryote because it contains 48. i @I (2ARTIRED, PR TS Teifge
(a) cell wall bilod
(b) ribosome (2) oI Ar
(c) flagella : (b) TR
(d) nucleoid Ry
(d) Fefreas
49. When a blood vessel becomes damaged in 49. (TRA T (@Ie TEIR FOAY T R @
the body, the type of blood corpuscles that TP TeY! S I A 1 27
quickly increases in number at that site is (a) ferc=rriZn
(a) lymphocyte (b) SAFIEG
(b) monocyte (c) =efpia=
(c) platelets (d) 2efifEe
(d) eosinophils
50. Aerenchyma is usually seen in 50. RIS G (7RI
(a) hydrophytes (a) wwerer Sfew
( (b) mesophytes (b) ZoTe Sfgw
J (c) halophytes (c) #rg Tfem
(d) Xerophytes (d) e S

[15]




51.

In a certain area, it was observed that after
spraying of DDT for a few years, the
population of fish-eating birds began to

decline. This was due to the phenomenon
of

(a) biomagnification
(b) acidification

(¢) nitrification

(d) eutrophication

52. Hormone responsible for secretion of milk

after parturition is

(a) Intersticial Cell Stimulating Hormone
(b) Prolactin

(c) Leuitinizing Hormone

(d) Adreno Corticotropic Hormone

53. Therecessive gene is one that express itself

in

(a) heterozygous condition
(b) homozygous condition
(c) F, - generation

(d) Y - linked inheritance

54. Match the words in column I with those

which are most appropriate in Column II.

Column -1 Column—II

(A) Lymphatic System (i) Carries

(D) Lymphocytes

oxygenated blood
(B) Pulmonary Vein
(C) Thrombocytes

(i) Immune response

(iii) Re-join the tissue
fluid to the
circulatory system

(iv) Coagulation of
blood

(@) A=ii,B=i,C=iii, D=iv
(b) A=iii,B=1i,C=iv,D=ii
(c) A=iii,B=i,C=ii,D=iv
(d) A=ii,B=i,C=iii, D= iv

[ 16 ]

S1.

52.

53.

-

G Ry St FES 323 Ffie DDT
TR #F OrA (o1eT TG A-Aw<s AR g
S g AR | @b A 75 :
(a) T&a faqda

(b) W&z

(c) wiRGRra

(d) ZTRRF=w

il SEES

AR AT My HES 2 @ WEEHT 2l
©f 2&

(a) TORFGERNE G Foureit: s

(b) caETREG

(c) Frehaifr zzmm

(d) wrifgm=behiFe w@em

ovzd fom == oifb, 6 e
(a) CBEATEIZAA S

(b) ETIERAN SwZE

(¢) F,-&ges

(d) Y - fFicee gt

54. @E19 (eT R M TF I @ (e T
TogE *ia et [um 3|
T -] w11
(A) #Ferog (i) Row 75 = 3@
(B) A Mt (i) SHIFTea At 2
(C) Sepi=t (i) FENTIE HITTOIR
AN AT GO 7
(D) fCwmis (iv) Feow afEFm

(a) A=ii,B=1,C=iii, D=iv
(b) A=iii,B=i,C=iv,D=ii
(¢) A=iii,B=i,C=ii,D=iv
(d A=, B=1,C=iii, D=iv




1 85, ADH takes parts in 55. ADH & (¥

(a) Water retention in urine (a) 0@ GTETd wAfAae 4T A0S
(b) Na* reabsorption (b) Na* SR st
(c) Reducing urea formation (c) BTRA Tesiva TS
(d) Absorption of water from urine (d) T4 (0 & CorE
&
§6. ‘Node of Ranvier’ is found in neurone where 56. WEEIRT @UE I T FPRCAR A G
(a) Axon is covered with myelin sheath (a) S Nfw e @[ igs AT
(b) Neurilemma and myelin sheath are (b) frSwwEm @3t MEhRm FiY A =
‘ d1sc0T1tmuous e : (c) e e e =1t a1 R
(¢) Myelin sheath is discontinuous
4 (d) Neurilemma is discontinuous (d) FSeawran A =
- 57. Person with AB blood group has antigen 57. AB wew Revre @@ afer @fe
over its erythrocytes G Toita A WifHrew &
. (a) B (a) B
(b) A (b) A
(c) Aand B (c) A9k B
(d) None of the above (d) Toizz IR 73
; / 5§8. Immunoglobulin found in mother’s milk is 58. wima yrx whenl RS EEG &
(a) IgE (a) IgE
(b) IgD (b) IgD
(c) IgA (c) IgA
(d) IgM (d) IgM

{17 ]




59. During flight, pigeon never gets tired easily 59. SUR AT AL, IYN WG 1Y T <1, Fe
because of (a) F1 Ao S

(b) WS, sfiegam, @, v fowrm Tenfig
(b) absence of teeth, stomach, urinary i

bladder, right ovary etc.

(a) pneumatic internal skeleton

(c) TIOR3 @ wfefre agafeng

(c) additional air sacs attached with lungs

(d) All of the above (d) Boieas 1R
60. Gene Bank is 60. &= T ==

(a) Ex-situ conservation (a) «-BiG Azt

(b) In-situ conservation (b) -5 ez

(c) Biosphere reserve (c) I Rore

(d) Sanctuary

(d) sreatgey

[[18.]




History 3o

E 61. “The Spirit of Laws’ was written by 61. ‘w FifF5 w2 o1er gl woat F=
(a) Montesquieu (a) WO
(b) Rousseau (b) w0
i (c) Voltaire
: (d) Elembert il
¢ (d) GRS
14 3
‘;‘ § 62. ‘Steam Engine’ was invented by 62. A Hgw =R IwEw
f. i3 (a) John Kay (a) &9
E % (b) Humphry Davy (b) =wE (efe
_ { (c) James Watt (c) (&= eqh
3 (d) James Hargraves (d) com Zrafares
i
: 63. The Treaty of Nanking was signed in 63. TmfR-93 % FrFfES =W
: (a) 1839 AD (a) 1839 RO
(b) 1842 AD (b) 1842 &%=
'. } (c) 1845AD (©) 1845 R
:' % (d) 1858 AD (d) 1858 o1
"

64. In 1921 ‘New Economic Policy’ was 64. MAMTS 1921 ite ot Sfa s wfdewar azd

adopted in Russia by FEq
(a) Stalin (a) i
g i
i (b) Trotsky (b) 5%
e iy (c) e
' (d) Kerensky (d) @Eats
i

[-19:]




65. The U.N.O. day is 65. wfufere wifeslg st ==
(a) 24th September (a) 24 ™ ceHER
(b) 24th October (b) 24 < SRR
(c) 24th November (c) 24 ¢ sreTa
(d) 24th December (d) 24 o e

66. The full form of I. M. F. is 66. 1. M. F-97 +jz1 36 =&
(a) International Monetary Fund (a) ToEEEE SIFGIE T

(b) Indian Monetary Fund (b) fSaw MG @

(c) TR WO TIe
(d) 9af®m @i=iHe 99

(c) International Mandatory Fund
(d) None of the above

67. Calcutta Medical College was founded by 67. el Cfte FEe 2w I
(a) Lord Minto (a) =€ faeo!
(b) Lord Bentinck (b) =16 @F6E
(c) Lord Amherst (c) =TE SwEPE
d) David Hare
@ @ cofos T

68. ‘Indian Association for the Cultivation of 68. ‘wITeaET Rww e ofefe o

TR

Science’ was established in (@) 1857 Rodie
(a) 1857 AD (b) 1876 Rebrcsr
(b) 1876 AD © 1885 F
(c) 1885AD @) 1898
(d) 1898 AD

[20.]




69. Indian Republican Army was founded by
(a) Surya Sen
(b) Bagha Jatin
(c) Bhagat Singh
(d) Khudiram Bose

70. The first Governor General of the
Independent India was

(a) Lord Mountbatten

(b) Chakravorty Raja Gopalachari
(c) Dr. Rajendra Prasad

(d) Jawaharlal Nehru

| - 71, Dalits were called ‘Harijan’ by
(n) B.R.Ambedkar

(b) Mahatma Gandhi

(¢) Narayan Guru

{t) Jyotiba Phule

72. ‘A Train to Pakistan’ was written by
(a) Khusbant Singh
(b) Sadat Hossain Manto
(c) Md. Ali Jinnah
(d) M. K. Gandhi

- [21-]

69.

70.

7L

72.

(a) T &
(b) IRTSH
(c) ®e i

(d) = 39

FIA SIS AL Foq (I fare=
(a) &6 ASBANGH

(b) ST A CoMN=AEABI

(c) ©. ANEH AW

(d) TeTFEH @2F

(a) R =7 SR
(b) Wt ol

(c) AT oF

(d) comfear e

‘@ G § AW’ 2436 a5 FEw
(a) PE B

(b) WIS @I FTH!

(c) Wz et femrg

(d) 9% . h&




73.

74.

75

76.
waste in high temperature is

Geography

The word ‘Gradation’ was first used by
(a) Powel

(b) Chemberlin

(c) Wegner

(d) Morgan

Jet plane flies into 74.
(a) Troposphere

(b) Stratosphere

(c) Mesosphere

(d) None of the above

‘Saragasso Sea’ is seen in 75.
(a) Atlantic Ocean

(b) Indian Ocean

(c) Bay of Bengal

(d) Arabian Sea

The instrument used for burning solid 76.

(a) Scrabber

(b) Incinarator

(c) Electrostatic Precipitator
(d) Blast Furnace

[22]
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QG|
“offfE’ *fs AL JIRT FEA
(a) *hers
(b) wFRfEw
(c) e@AR
(d) wsf=

@5 R e T

(a) TP

(b) e

(c) conFFE

(d) oz @ieE =

T A ot T
(a) wb=IFoS =PI
(b) ©IFe NZFNE

(c) A

(d) =R AN

THeIts T T (ATIT TFO ==

(a) WIRE

(b) OGS
(c) F=w@rons faff=koa
(d) IS FIEH




77. The International Boundary between India
and Pakistan is known as

78.

7 A

(a) Radcliff line
(b) Mac Mohan line
(¢) Durand line

(d) None of the above

The youngest state in India is
(a) Jharkhand

(b) Goa

(¢) Telangana

(d) Uttarakhand

Which of the following is not a saline

water lake?

80.

(a) Sambar
(b) As_tamudi
(c) Loktak
(d) Pang-gong

Automobile Industry is developed in

many cities in India of which “Detroit of India” is
known as

(a) Chennai
(b) Mumbai
(c) Bengaluru
(d) Noida

™
“ffafee

78.

T2

80.

[23]

oae ¢ wfdwrae wngeifes Muw @ ae

@ refFT aEn

(b) T A ARA
(c) G AE
(d) TeER @EHe 9

(a) Aree
(b) cm
(c) coT=Al
(d) Temre

e grefem g @ @aNe s a9 e
(a) 799

(b) =B
(c) FT=
(d) =inesie

wared [fen =@ @asife el Me et

TOE, ©F WY TS (OREL I

(a) GARE
(b) AR
(c) HFEFP
(d) el




81.

‘Central Arid Zone Research Institute’

(CAZRI) is situated in

82.

(a) Gujarat

(b) Punjab

(c) Rajasthaﬁ
(d) West Bengal

The state with the lowest population

density in India is

83.

84.

18

(a) Sikkim

(b) Goa

(c) Rajasthan

(d) Arunachal Pradesh

‘Rainbow revolution’ is related to
(a) New Agricultural Policy

(b) Egg Production

(c) Artificial Rain Making

(d) Non-conventional energy

The Scale of 15715 Topographical Sheet

(a) 1:1000000
(b) 1:250000
(c) 1:100000
(d) 1:50000
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81.

82.

83.

84.

(a) @G
(b) A&
(c) wrergs
(d) sfessETR

(a) Tifew

(b) coA

(c) Arerg=

(d) SFeIrSe] 20

g Rew o™ X 7@
(a) =g FRAME

(b) fer= et

(c) Fham 3fete

(d) wibanfe =&

15715" GeetaifEemie o4 & &
(a) 1:1000000

(b) 1:250000

(¢) 1:100000

(d) 1:50000
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Political Science

85. Indiaisa
I. Socialist
II. Secular
ITI. Sovereign
IV, Democratic
V. Republic

Identify the correct sequence as
maintained in the Preamble of the Indian
Constitution.

(a) L LILIV,V

(b) II, I, V, I, IV

(c) IIL V,LLIV, 11

(d) IOL, V, I, IV, I

86. Parliament of India consists of
(a) Rajya Sabha and Lok Sabha

(b) Election Commission, Rajya Sabha
and Lok Sabha

(c) President, Election Commission,
Rajya Sabha and Lok Sabha

(d) President, Rajya Sabha and Lok
Sabha '

87. Which article is related to Equality before
the Law in Indian Constitution?

(a) Art. 13
(b) Art. 14
(c) Art. 15
(d) Art. 16

88. The normal tenure of the members of the
Rajya Sabha is
(a) 4 years
(b) 5 years
(c) 6 years
(d) 7 years

89. The President of India can proclaim _____
kind(s) of Emergency.
(a) One
(b) Two
(c) Three
(d) Four

AR

85. wiFedE =& i)

I. seersifze

1. wffeass

1. ACS

IV. sieifEs

V. aereifEs
SIS MR &B S A @l

e 391

(a) IILLILIV,V
(b) ILII, V, LIV
(c) NIV, LIV, I
(d) IOL, V, L IV, II

86. ©RCEA AT A ARG sifde o7
(a) FEPTel € ERTel W
(b) Fivw zfmw, a8 @oTel A
(c) %ﬁﬁﬁmmw\s@w

(d) =TS, ArEETe! ¢ EieTe A

87. wiaren MRS @ Sr=rivre wisfHama
) SRR B0 A7 T 5 AR ?
(a) 13 == SR
(b) 14 = Sen
(c) 15 = Sejron
(d) 16 52 SR
88. IEFTSR FEUHE IAFIEE TIRT T
Eg|
(a) 43=1
(b) 57=d
(c) 63=7
(d) 7=
89. wiATex AP YT GFEdl S
G FACS A |
(a) @3
(b) B
(c) &=
(d) w17
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90. The ‘Veto’ power can be exercised only
by the
(a) General Assembly
(b) International Court of Justice

(c) Permanent Members of the Security
Council

(d) Trusteeship Council

91. The first Summit of the Non-alignment
Movement was held at

(a) New Delhi
(b) Belgrade
(c) New York
(d) Dhaka

92. The Panch-Sheel Agreement was signed
between

(a) India and China
(b) India and Nepal

(c) Indiaand Pakistan
(d) Pakistan and China

90, ‘cot(Veto) &N T wFrel SR FIEIE

91, (aip fRErF SCHEeE AW A AT
wefoe T |
(2) 7o @S
(b) FETATE
(c) ez
(d) oI

02, iR piE AHAS LA Y |
(a) OIS 6 BT
(b) SIS 8 (HATE
(c) oS € AT
(d) iR e B
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Economics

93. To produce any commodity, the cost to the
society as a whole is known as

(a) private cost
(b) production cost
(¢) social cost
(d) investment cost

94, The policy of the government which works
Ahrough the budget is known as

(a) monetary policy
(b) income policy

(c) commercial policy
(d) fiscal policy

95.  In which of the following, increase in price
will affect the demand most?

(a) Goods of addiction
(b) Medicine

(c) Car

(d) Food grains

96. Which of the following is the most effective
instrument to decrease inequality in the distribution
of income?

(a) Increase of tax on goods

(b) Increase in the rate of income tax with
the increase in income

(¢) Increase in bus fare
(d) All of the above

97. To lower the deficit in the balance of
payments it is necessary to

(a) increase the tax on imports

(b) increase the tax on exports

(c) decrease the credit to exporters
(d) None of the above

S¢S

93. (I G TN, NS FNEF Y76 357 2
(a) Tf&srs
(b) Terim I
(c) mife= 3=
(d) Rfwet am

94, EIIFT @ NS IWEB NG IS (T ©IF

(a) @i ife
(b) = TS
(c) fifegs S
(d) ey e

95. [NBA @W CF0I W I SRS AU @R
Feifde T ?

(a) MR Ty
(b) &7y

(c) M

(d) A=y

96. W IV (ITY INENT G« (@B GBI
TAIN 2

(a) TR Bolw 37 g

(b) = = e e W 29 e
(OREASOE

(d) Toitzm saaite

97. A 3ifdrey Qitfe TS eeE
(a) wmwmIfA w% 3fE T
(b) 7 w% 3fa =
(c) eIz et wiw I
(d) ©ozm @IeibE =
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98. Inasocialisteconomy, production decisions
are taken through

(a) market system
(b) planning authority
(c) consumer’s decision

(d) bureaucratic decisions

99, Those workers whose marginal productivity
18 are called disguisedly employed.

(a) maximum
(b) minimum
(c) zero

(d) positive

100. The purpose of MGNREGA is to provide
employment to one able member of a rural family
per year for

(a) 50 days
(b) 100 days
(c) 150 days
(d) 175 days

98. Wﬁawaﬁ!}m@wﬁwwﬁ%ﬂﬁw
@ =W

(a) IEF JIF T

(b) AT YRR MG
(c) R Faies MO
(d) wrersiiEE Franes MO

99, i = 2T SestmeTs! :
i 96 T8 T IR |

(a) i
(b) =
)

() =

100. MGNREGA Ffifoa St 21 il sifratas
G T3 ETE AR FEIFIT T (e

(a) 50 fae==
(b) 100 ==
(c) 150 @
(d) 175 faea
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